&Y Sierra Chart 1316 EURUSD-TICKS 2015 11 12.cht SC Forex Data (FXCM) 2015-11-13 07:12:01 Fri [Sirn] Con:700274 - [EURUSD 2500 Trades #3 Euro / US Dollar] - 2] X

|L7| File Edit Chart Analysis Tools Spreadsheet Trade Global Settings Window CB CW Help 5 _=l§_j__}_§_j
;I:..[;iF;"mﬂEI#'.ST:E BR:19529 k | Fst'su GC ms]e:-m Dis csiswl ﬁEﬂ/ﬂl N] m+]&l_ﬁi n—ln/” &l |:|]|: @l | ]Ml EWM'aIJI:JHEDJFE-':]T:-.‘EI cvw‘%_FJ E-W1 TDF'] Dly | We mlmeM]MM‘lHIGMEI% Eiﬁj EGDJEED]EATanglE

EURUSD 201511 08 HELUERRREEHGEREE A (j5p)pY 2015 11 08 | USDIPY-TICKS |
EURUSD 2500 Trades #5 [SSARUEEEE T=1457 (8 LEHRLGRS [NSLESIRIFN 2015-11-13 07:11:23 H=1.07399 L=1.07332 0=1.07348 V=1457 B=1.07367 A=1.07380 1.1 F{T:lﬂai_j: BV=0687 AV=769 DV=207468 Moving Average - Simple Avg: 107609 (Last, 60) Moving Average - Exponential ~vg: 107227 (Last, 7) Bolh
= "y Fd

L
=

b

“GT0E
’

1.08200

1.08100

1.08000

QL ETIEL LT-

1.07900

S Bsipigo ET-TT-5TO

1.07895

1.07800

1.07785

1.07700

1.07600

1.07500

107373

1.07300

1.07495

2500T = 10 tq

1.07200

107100 1.07100

1.07000

1.06900

1.06300

1.06700

1.06600

Why no value for ATR given please? 1.06500

Maybe because this is a tick chart? 1.06400
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